Name: K,Q,u e

Assignment (Due the next class meeting)

Monday 8/12/19 (A) 1.2 Notes: Solving Linear Equations
Tuesday 8/13/19 (B) HW: 1.2 Worksheet 2. get syllabus signed. pay lab fee $3
Wednesday 8/14/19 (A) 1.3 Notes: Solving Equations with Variables on Both Sides
Thursday 8/15/19 (B)
Friday 8/16/19 (A) 1.4 Notes: Solving Literal Equations
Monday 8/19/19 (B)
Tuesday 8/20/19 (A) 1.5 Notes: Solving Inequalities
Wednesday 8/21/19 (B)
Thursday 8/22/19 (A) 1.6 Notes: Solving Compound Inequalities
Friday 8/23/19 (B)
Monday 8/26/19 (A) 1.7 Notes: Solving Absolute Value Equations
Tuesday 8/27/19 (B)
Wednesday 8/28/19 (A) Ch 1 Practice Test
Thursday 8/29/19 (B) Study! Test next class!
Any late/missing HW is due next class!
Friday 8/30/19 (A) Ch 1 Test
Tuesday 9/01/19 (B) HW: None! @

NOTE: You should be prepared for daily quizzes.

Every student is expected to do every assignment for the entire unit.

Students who complete every assignment this semester will

HW reminders:

earn a 2% bonus for their semester grade.

> 1f you cannot solve a problem, get help before the assignment is due.
» Missing the notes or a worksheet? Go to www.washoeschools.net/ DRHSmath
> Need help? Check out Earl’s website: www.mathguy.us

www.washoeschools.net/DRHSmath




1.2 Notes: Solving Linear Equations

Key Vocabulary
Solving an equation:

isolocte o var 0Lb (g

Combining Like Term ‘3{ (SimpP I!QB
€X* 2N S

exX' 50-2bt34 =8a-2b
Addition Property of Equality:

I a=b 5 Yen SwC=-bwC

Multiplication Property of Equality:
\£ a=b, Yaun o<@= b€

Examples 1 —3: Solve for the variable in each equation.

Linear Equatlon

) veeph (S o
(==t e
Dlstrlbutlve Prope

ty
eX ax (a~103 SHA00 = 28D
Subtraction Property of Equality:

\e a=b, then a-€e=b-C
Division Property of Equality:

olo

1) 6x—8=12 2) =3 = —2.1x + 3.3 3)%n+5=—7
+2 +4 33 -33 -5 -5 %
L=l e e (LN = 5
b o e Il
; 2.\ 2. |
— e = =g
You try 4 — 6! Solve for the variable in each equation.
4)§a—1=1 5) | e Ny 6) —4.4b—3 = 17
+H o+ + 1 +3 +3
s
< )Lfa 2_(-’> _F__Q__:—(Opb _.Lf HL = 20

ok
ho

&*" ”ﬁf 2

www.washoeschools.net/DRHSmath
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R T D St s et

LiKe erms =
Comb vk b\é + or -

Example 7: What is the value of @ in the equation
shown? 5a—7a+ 9= 20

\/ l
/ P
2(& l

Example 9: Solve the equation for the variable:

2(7 — 5h) = 20.:
g s inpyos

—jif - | &
- |4 ettt ot as £
o=
= ’_’/O =+ 5

Example 10: What is the value of x in the equation

www.washoeschools.net/DRHSmath

Yerms wibh came V
By coe £ Auents

guﬁabm_ﬂfwiQXPOﬂlﬂ+-

You try #8! Solve for g in the equation shown:
25—-5g9+8g=7

g5 24 =1
=25 s i
3
=0

Now solve thé same equation with a different
strategy! 2(7 — 5h) =_Z_Q

p X o
FriSiie alo
= -7
ok 5
p— e
=3 =El
__—3/5

Solve this same equation by using a different

shopid 2—(?1) =P ik method. dand) 8=32

#8 uihil +8 *8

/_’_—-—_—_
: 3
R@2 ) . O (%) 4 20+4) — -0 (;>
S R
=z 54—- Stp ,.X:U";
a.
Associative Property (of addition or multiplication): N !
Terms can be grouped together differently with addition or
multiplication. Note: the order of the numbers is not changed. Sample: (3 +5): =
Commutative Property (of addition or multiplication): Saioti¥s 1 2 Bghge
Terms that are added (or multiplied) can b written in any order. e - o e
\;Emp}gj Qv M= )8




Isvving Foanatione and ineaiialitic

Example 11: The equation below is solved step-by-step. Write the property that describes each step.

I Solution Property used
4(3x +2) +5x 9 Given equation
T

AGr )t

MUl 2 L1 Cata oM

12x + 8 + 5x = —63

(‘Ll S‘H’&)

Uh\e m/D*O

12x + 5x + 8 = —63

cormmnmuaA o o Op

17x = =71 Combine (ke JermS @ Subhrath 4
71 g
x=-— DIVision prpof =.
Example 12: Solve for the variatﬁd;)—%(Sy +20) = -3 ("ll)
'>’5+20 = |3
S—H = —;Z_-__ H i /S
r’s.—' S—

Example 13: Three friends split the cost of
ordering pizza. and they each pay $13. Which of
the following equations models this situation, if p is
the cost of the pizza?

A)p:E

B) 3p =13

G —23
p

Oi-
3

You try #14: Trevor hires a landscaping company
in order to xeriscape his yard. The company
charges $800 per day, plus $120 per hour for labor.
The job takes the company 3 days to complete, and
the total charge was $4560. Which equation below
correctly models this situation, if 4 is the number of
hours of labor needed to complete the job?

A) 120h + 800 = 4560
120h + 2400 = 4560

C) 800h + 120 = 4560

D) 800h + 360 = 4560

Example 15: Four friends use an online code to get dlscounts on concert tickets.

They spent $312 for the four tickets.

Part A: Which of the following equations models this situation for the cost T of

the tickets, without the discount?
Option 1: 4T + 15 = 312
Option 2: 4T — 15 = 312
Option 3: 4T + 60 =312
QEtion 49 4T - 60 =312

Part B: What was the price of one ticket, 7', without the discount?

©o =312

il 760

+ 00
S = Sy
o 4

www.washoeschools.net/DRHSmath
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Your order details are shown below
for your reference.

ORDER # 328

Sec B, Row 10, Seats 13-16
‘ Quantity Price
Tickets 4 ?
Discount $15.00 4 X §15.00
Order Total $312
4




1.3 Notes: Solving Equations with Variables on Both Sides

Warm-up: .
1) Findx: 15— 2(x — 4) = 31 2) FinH«'i(Zx—3)=8‘L’
ot 3 -1% g 3
T W X=3 =
RO DR LY 43 3
- TN
X~Y4 = - g 22 B
+4  +Yy - T
—s1
= 3/2

k K==

Solving Equations with the Same Variable on Both Sides .
TR SRS

Pt

I, Simplify by combinin :
9 G,ropwp yva\t/’ioubus ongom Sicly ound constants On
- o+Hner.
3, lsmoubc +e vandble.
Examples 1 — 4: Solve for the variable.
1) 5n =8 = —6n + 30 2) Youtry! 50 — 2a = 34 + 16q
“+bn +bn +2a +2a
lin-g= 30 So= 34 + 180
$8. 578 3¢ -34 —34
i =38 T Jo=1%0- a=Ll=
Btk th=
TRk, v T 19 15
3) 209 +31-24g=16—¢g 4) Youtry! 134+7b=4b+6—12b
4 +7b=-8b+0b
P B ”{,_’49 13 8h "~ Tab
+'19 J 13+16b=0
3(= 1L+ 29 —i3 |3
"’, "'[ IS, I’Sb: -—-_7
IS Sg—_:sf = S5
www.was 10escgﬂ's. rﬂgﬂm{ T % _«-_;7;—‘]




Example 5: Solve for b:
5b—-3(2b+18)=—-6b+9

Bb—bb— 5.4 = -bb +9

_\k;/_, 5'1,i— = —(0‘9 ar q

+eb +olb
5% 5.4 =S
+5,4 F6.%

5b = 144
5 S

Example 7: Solve for x:

M)]- % B 5-)]=E (2x + 1;)] (LD

3 (ax=5D =GR

b=2.%3]

Example 6: You trv! Solve for w:
6—32—4w)+8w=12w—1

b-l+]AwWw+EW=]3wW |

b L
—12W -2V
gw = —|
= P
el
= K

Example 8: You (ry! Solve for the variable:

Q;)E (2- 7k3]=E2(4k - 3)]@)
2 7l @K+ 3)

—q x5 =TT 2 SR RO 3.0
+49% + 99X oK. +Yok
15 = ST e i
= 5 S . Sl — 30
— = X::“'Li',/L -2 = -

Example 9: Somry: (’_“g E‘(Sy - 21ﬂ= E(3 —4y) — SJ(’D 22— 37—_~

3(5Y — 2 D= (’3~43)-3§ = —%
ISy =lo=i= 42 - sby — 25

)55 — 1 20= -—Sla\j + 71
Tse #Sby S0
Ty - L = 7 RO S T
F>D 03 71 W4
Exploration: Solve forx: 4x + 6 = 2(2x + 3)
Uxsp=yx v
—ax ¥

U = ('a % 'S
What do you think this means? Al VALLLES © & 0 [l Cati Fg
e equiction!

No Solution:
Trere is no value of X that
MAKLS +V e -QOLuO(rhM +ruae -

®X  AXtD = AXES B Pladisier RS :

www.washoeschools.net/DRHSmath




Example 10: Solve for /: 5(7+2g)=3g+18+7g
=10g _—109 {

3541% Falst.

Example 10: Which of the following equations has no solution? Choose all that apply.

A) 6x—7=4x+10-17 + 2x 3x—2(5x+4)=—7x+1

— = (&X_7 2] — R —'f'l ;
bx-7 BXV!OX 3 o SDJWHTJ

-8+
@x+5=8x+2 D) 3x —9.= 3(&¢=13)
—gx & 3x-94=3x—14
S

[~No solufion/

Example 11: Sarah has a gift card worth $60 that loses $3 each month that it isn’t used. Max has a gift card
worth $50 that loses $2 each month that it isn’t used. After how many months will they be worth the same

amount?

Lot x = # of months =04~ Ser’é;
n UD"BX ‘fgx :
Sarc (pOf_" SO

max § SbmEX 50 -0

WY » e

Example 12: Cameron pays $0.95 per song with his current music service. A new music .
Music Downloads

service charges $0.89 per song plus a joining fee of $12. At how many songs will both
services charge the same amount? .
.95 per song
UL.‘, Yi = #D; Jomﬁs .
' a 12.00
Cﬁﬂwm Y 0. S X sro JOIN
Coyvicw | D8IX T)2 e

Oqg)( = O,S’QX +/2
—0.89% —0.89X

o =, [ 200 [
0.0b O.bb 3

www.washoeschools.net/DRHSmath
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§ Ieriviry Eorviiadi A et -y I Y s lifi oo
YOLVINE Eguations aid ihequalities

CLUiAChH

1.4 Notes: Literal Equations and Formulas

Warm-up: \
) Fi.ldx:S.E—g(x—ﬂ=[z)% 2) Findx: 5(2x + 3) + 7x = 6x + 10 — 4x
= - SN ())-_ V) IOX+IS +IX = 2% +10
TR 2x+\0=0_ {1 %+ \SieE 24 1O
~2%+13 = G —2X = "‘l?—ox
== x=Ya 2 —\S -6 j

: : . : : 1S : ; i
3) Explain the difference between an equation with no solution and an equation that is an identity. How do
you know which is which?

E

pel+ies Of e quolty +o solve

Literal Equation: AS€ P V&(/HM le . AhSLeEr may not+ be

’FIS{\ 4 (ndicC
o NUMpLr.

www.washoeschools.net/DRHSmath




For Examples 1 - 6, solve for the requested variable.

1) A = bh; solve for h 2) 5a + 2b = 40; solve for a el= %lwh; solve for w.
ﬁ:ré_h =2b -2b 2 (\/):(’l/[w’)q
hi &0 50 = 40-2b 3
=1 —:E;' S S 3 V e /( s (/U ¢ h_’

( A -
)9: et ¢ -y P X
e 6= - = b y 1) iy

You try! A
4) V= %Bh; solve for B. 5) SA = 6lw; solve for L. 6) 3x + 2y = 12; solve for y.

OGP S 24 = 123
= Bh r— - &
f % i [ =

Example 7: Janet wants to calculate the time it takes to earn a certain amount of interest on a principle amount
in an investment with simple interest. If the formula for simple interest is I = prt, then what formula could she

use to solve for time ¢?
I P Y —t

PY Pr
B
e |

Example 8: Rob is an electrical engineer who works with lots of wires. He needs to calculate the length of the
wire L (in meters) using the electrical resistance R of the wires (in ohms), the resistivity p (in ohm meters), and

: ; ‘ : i L :
the area of the wire 4 (in square cm). The formula for electrical resistance is R = %. What equation can he use
to solve for the length of the wire? :

Mr="LL. (A

www.washoeschools.net/DRHSmath




Lf‘i’bg_ ————Z)T“}'b')_

Example 9: In a half hour, Sarah is meeting her friends at the lake, which is 6 mi from her house. Adt what
average speed must she ride her bike to get there on time, if d = rt, where d is distance, r is rate, an f is time
in hours? \

(vain) o OSES &~ o8
TNEE s
2 0.S hr 3

Example 10: The formula for the area of a trapezoid is A = %h(bl + by,). Solve the equation for the height A.
Then find the height of the trapezoid if its area 4 is 50 square cm, and the bases b; and b, are 6 cm and 12 cm.

(2)[A}-Pz—k(to,+bi)](z‘) it syl e =

Example 11: According to Teo’s bread recipe, he should bake the bread at 190°C for 30 minutes. His oven
measures temperatures in °F. To what temperature in °F should he set his oven? Note: use C = %(F = )
where 1s degrees in Celsius and F is degrees i m Fahrenheit.

) e 27 e
C=[Z (F- 32 3 =

‘IQ - e = a0ker

ek % d
+29 F = 37‘*/0

Example 12: Given the equation: A = -;—h(bl + by). Which of the following shows the correct solution for

b;? Choose all that apply. o

il 2.p=1thbhy) 2 2h-hby = h'b
2Ahhb22 TN = h (ka, Ar ‘99,) A h

C) 5+ b Al o S TR ' |
D) Atz ""';'\i’?& s If\)Dl 2_,%. ] = l)l

2h

www.washoeschools.net/DRHSmath




1.5 Notes: Solving Inequalities in One Variable

//Warm-up:
1) Solve for a: \2e %(a —4) = 2(2 +3a) «\5 2) Solve for b, in terms of @: 3ab—2 =18

-2 +2
5,a(a_—q> :3ol—f(2-f'30t>

Oa—40 = a4+ 3bQ i
b 00 —jO O o
—Y0. 5 Q¢ Tl &= |
—d% ~ay e
K —4Y = Qbao
AL av E A
_ et g ]
0= v ol

Exploration: Consider each inequality below. Find as many values for x as possible that would make each
statement true.

A) xis< =8 B) x =24

—’Q\)ﬁL’M'IO)-lS 2oy ’b)_’)\q)‘lo

Examples 1 —3: Solve each inequality for the variable. Then graph the solution set.

b4
1) 3a—5>7 2) 4> 2x+1 @Zb<_4 2
+s5 +5 - = )3 | 13
et o g | ¢ -2
34712 =7 2 _b o
T S} 5 [o< ]
. ozt ! Teey, T S L e—p

T *ﬂ

www.washoeschools.net/DRHSmath
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YOIVINE EQuUations and inegualities
111 i

You Try! #4 —6: Solve each inequality for the variable. Then graph the solution set.

saeEnt S 2) 4> 4x—12 3) 6b +2 < —4
L A 412 412 =2 =2
L+"7_‘?C\ 72l Mozt X gtz Wb <-4
A =S .—q:- “r XLL"- ——U u(,
¢ e
b= ; é__—g % = -‘, , - S
TS

Example 7: Grace’s mom told her she could spend up to $25 at the movie theater. Her ticket cost $11.00.
Which inequality below correctly models this situation. if Grace spends d dollars? This graph the solution set.

A) d+11<25

B\ d =1 =55 d+il 2 @S

@d+11325 -1} —=\\

E) d—11<25 =

d< v « 9“‘——9 =,
Y
g or Dividing Both Sides of an Inequality by a Negative

The direchon 0F +Hu g SYyrbo) 1€
reversed when both Sioles & e

e g Give.. Vverluan .
Mmul+plited Or diviotreeies] s 9

Examples 8 — 11: Solve for the variable. Graph the solution on the provided number line.
8) —5n 8 =>H& 9) 4x +8 < 7x +3
-3 -3 - T

~SvniZza® -3IX+Q <3
-5 -s =N s

h<~2

You try #10 — 11!

10) 7b+11>9b + 3
.
—2b+ |17 3

-y -
_2\37/ =%

£
www.was ho\@clﬁo]‘s‘.t et/DRHSmath




Example 12: Solve for x and graph the solution on the number I T B A L o i Bl Rl el
line provided: S Xah3(dact-8) = 12.<22 SRS R G AR i v T
~Sx+bx+24 -1 < QA2
& N
—\2 -\
p< < 10)
You try! 13) Solve for the variable and graph the solution on the ~ &—4———+—+—+—+—+—+— —>
number line. 3—2(5a—-1)<7a+10
3-100+& <16+ 10 ~170¢5
\J ey ERanI D ol ; e
— 0o +5S <10+ \0 -7 o 17 Clio  TF
-\—|a+s<\0 AB-=-p g qin,
- 17
Example 14) Sol\efm x and graph the solution on the number e4—4—+—+—+—+—+—+—+—++
line prov1deb- <440 =
)
s < x 8 =1
43 *3 -
SX ’9:'\_
3 S
Example 15: Solve for b and graph the solution on Example 16: Solve for /4 and graph the solution on
the number line provided: 4(2b + 8) < 4(2b — 3) the number line provided: 4(h — 1) > 2(2h — 2)
Sb + 32 LR Uh-4 2 Hh- U
-8b -8b ~ih ~4h
22 < -1 et
Foise! Tvur !
: nfint Ry an
[NO S()WH’H)Y\S f J \r_!
e e T e T e e

Infinitely Many Solutions versus No Solution

The variable (S e limna4ed oinol +\ne Y\QSUH:MQ
\mzqutcu\)nj 'S 7 T T

4 3

Faiisie i B Al e BALGADTY
VO Soluth oNn So\ut+ioN's 13

www.washoeschools.net/DRHSmath
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Solving Equations and Inequalities

You try! Example 17: Solve for 4 and graph the solution on the number

line provided: 3(2h + 6) > 2(3h +9) ettt
(1 + 1S 7 b AGTEEE
~loh —loh
| & 7=
couse !

[0 soiution|

Example 18: Derek wants to order some roses online. For what number of
roses is it less expensive to order from Florist A? Florist B?

Lot ix = o R

Floris+ A I GISXERR

F’\Ori S+ B \, C-; ¢ \ gx + 1 g :%l?;;:;;?tblue rose ;?;i{;;red rose
plus $4 plus
delivery charge. delivery charge.
0 < SHShdElE
U, 1%
—=G.[6% —G. 15X

0. Uy dr s

A

PO Pove, Y~ Flormst

+ e
‘l
X D SIS

& Derer buys 3 g

A s ss expensive:s
|F DeretK \o\/t\ds 37 oy feweenr, ban Floxist B
15 pemmel. 255 X PpenS WR .

14
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1.6 Notes: Solving Compound Inequalities

f Warm-up:
Sarah said the solution for the equation below is x > 3. Describe her mistake in words. What is the correct
solution? [ 3
~5(x =2) > -5 DdNY vreverse Sion wwnen
—5x+ 10> -5 X 2 A )
—5x > —15 dividing by A Negatve
x8=>3

covvel~+s X 479

K =

SG A0 X7 o

Compound Inequalities: NI : 040 5

“And” o—9© a<x<b “Or” «—0 (O )((O\ oYy X7b
o8 b o i o o

Explore:

Part A) Write down all numbers that you can think of that are less than 4 and greater than -2. Then express this

solution as a compound inequality and a graph on a number line.

P ikannct Dekare ool st |
\Illllllllll>

— D e

Part B) Write down all numbers that you can think of that are less than -2 or greater than 4. Then express this
solution as a compound inequality and a graph on a number line.

><<‘2 oY ><>L+" <ll%l|llllll

15
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YOIVINE Lguations and inequailities

Examples 1 —4: For each graph below, write a compound inequality.

N D 1 I 0 GO BTG )
| T e T ettt o e e TR et )
9 .8.7 .6 s il R Lo g ylg SN YRS N gy g s L e e

X
IN
(& A E
(=)
—ﬁ
>4
N
(V)

0} Sl s

b

|
1
=25 -1 0 RS2 N3 4 S e =T Hg iy

e < S 2Dl W0 XS

L
& 4
n
-~ 3
& -

Examples 5 —6: Translate the verbal phrase into an inequality. Then graph the inequality.
5) All real numbers that are less than or equal to 11.5 and greater than or equal to -3.

-3 £ X IS

—— = E
D s

6) All real numbers that are greater than 4 or less than or equal to —2.

X > Lt oy ERECR <—p o—>

1

— o

Youtry! Examples 7—8: Translate the verbal phrase into an inequality. Then graph the inequality.

7) All real numbers that are greater than 7 or less than or equal to 5.1.

W > 7 ><scs.\é,_::j“.;___ﬂﬁ:_>

1] a0

8) All real numbers that are less than or equal to 9 and greater than or equal to -2.

ézsxsq

—

www.washoeschools.net/DRHSmath
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Examples 9 - 14: Solve and graph each compound inequality.
9) -1 <9+2n<17 10) 2x+4<10or-—3=3
-q -9 -9 -4 4 ‘43 +3
—10¢ 20«8 2520 g% 5 L2
— e =% -
2 2 = ’ e > \[ 74 .'
- 2 /7
J Aq > ‘f @ ﬁ >
=S Y 3 |2
You try #11 and 12!
11) -36<3p-6<-15 12) 2n+7=270r3+3n< 30
+ o +WL - =1 -% =2
~30 < 3p< =k Zn720  3n < =
= . 3 A At S
D7 \DEoR 2 =]
—]0 <Pl
= Taeaan(]) o %
=10 -3 9 10
13) —-14+5n>-26and7n—2<12 : 14) 6+7m<6ém—-50r3m—7<5+6m
¥l + | +2 +2 ~bm “bm  =30er “3ra
bn7 ool g+ <=5 —7¢5+3m
s g 7 9 L S - 9
N7-5 and pn <2 st =74 ciag
o
= SRS NIEERE)
| S —4 < m
= 69" i = < 1 b = >
S Sl e = :
17
www.washoeschools.net/DRHSmath




Solving Equations and Inequalities

Explore:
Part A: Write down as many numbers as you can that are less than 8 or greater than 2. Then draw a graph to

l'Cpl'CSCIll 1he SOlUIiOI . . S 3
1 !' ’ {—4—-{—4—?;’—'—’—4—4—‘}—0")
! . ) ‘ 2 5 i 5 l H

Part B: Write down as many numbers as you can that are less than 2 and greater than 8. Then draw a graph to
represent the solution.

L # tannot e 1SS than 2

Compound Inequalities with Infinitely Many Solutions (All Real Numbers)

Compound Inequalities with No Solution

Examples 15 — 16: Solve each compound inequality, and graph its solution.

15) 7v—5<650r—3v—2< -2 16) —37= —10b+3>13
45 45 +2 T2 =3 L P
—Y4o >, —iOb > 10
LN B el U s e
7y <310 V] it < g

2 = -2 -3

4 <

Vil N7 ) \
o [Go solckion]

- — 7
0) 10

G e (LSS
P T gURZ 1248 +han L H Canno
10, DI G RE et “+Hhoun Fhn -1 and Gredn
o, e o

\ Infini #ly many Solu,ﬁw\i)

www.washoeschools.net/DRHSmath
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Algebra 1 Ch1 Notes Solving Equations and hwe_guanties
1.7 Notes: Solving Absolute Value Equations g Il fisis ¥

Warm-up
1)  How far is the number 13 from 0? How far is - 13 fro

Absolute Value:
Tve distance

Turns eveny it




e ——————

dudat

Solving Equations and Inequalities

Explore: Your teacher will graph the following absolute value equations on Desmos. Sketch

each graph and solution below.

o) Sla=ill=i=

A) |x=3li=72 B) —2|x+ 1| = -
(TN e ; | BEEE
i fe il RESEA). ) ‘~ l s I s :
EENEEENEEEEEE DLE
| S ,T,,._ﬁ, : L : ‘ | ” F j \[ //v El
ESEREERDEER SRR o 00 SRR oY IR
l’ f B I B R
B jL,_ [} ey ’ ; I
9 it 5 /! s 5 !
EREE 1 | ,
N MNEEEEE W JEE L |
Solution(s): X=\ _ X Solution(s):)(:‘l'f) M= Solution(s): _ AJD U
Examples 1 —3: Solve for x in each equation below.
) ke =& 2) [4x-3| =6 3) Ix| —-3=6
i 4= +3
x=l ,x=-U G S —
+3 +3 3 *3 x| =
St Gl Uxe= = - = -0
wov BT 130 A
st =
e =i
You try! Examples 4 — 5: Solve for x in each equation below.
4) |x| =10 5) Bx+1] =16
*=\0 %= {0 sxaisiDENE RS gl
__—‘5_.\_?_ = =\l
A i
Examples 6 — 8: Solve for x in each equation below. 3
6)_3_|_x_|_=6 7) 3|x+2|=§_ 8) 3lx|+2=6
3 3 " n TG Ts
x)= 2 V) = - Sy =4
- == Y
= = A2 = XP._ -
X =200 -2 —Z “ C el =
2=0 s el 2 20
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You try! Examples 9 — 10: Solve for x in each equation below.

9) 5|x|—-1=9
41 T
Six{ =10
= S
| = 2

=i B € i 77

10) < |x| -4 =2
Y +Y
- = lb*%
5o 1|
\y\ = 30

X=230 =80

Absolute Value Equations with No Solution -
Tre tbsolutl vatue 0f a4 & Cannot be oegative:

11) |x| + 16 = 10
-t -1l

x| = ~b

(W5 sorwRon)

13) —2|x — 4] = 20
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Examples 11 — 14: Solve for x, if possible.

12) =5|x| =1 = —11

+l <

—5|%| —Si

.;g —<
W=

54:";* X::.—(a\“

14) —2]-3x +1|+ 6 = -4

- —l
-1L3x+||::12
-2
|-z} = 5
LA =S '3X*\::f
—A =1 >
—2x=Y —3x =~
= =5 =3 -3
X= - X="2] ”




You try #15 - 16! Solve for the variable.

15) 2|b+ 5| — 8 = —4

+8 +¢
2\b+ S| =
S 2
brs) -2
bt5=2 b4+5
=5 -5 —g LIS
e \03—7‘-

Solving Equations and Inequalities

16) 2|5a +2| +11 =2
3

= =i
3 ,‘3\;0&2) = -9 73
\gou—z‘ = =)

(No SO\ U w‘\j

Exa@lf 17: Which of the equations below have no solution? Choose all that apply.

. }-5lx + 6| =_1__(_)_
—S =€
\X‘\‘\o\ = =)

@3|2x+ 1= =128
2 &

\ax+1| = 4
N0 gotuun‘wj
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B. |x+31|=8=-2
+8 +g

\x-\—%\\ = b
e

D. -8|x—4|-6=-10
o

- to
el il
e =

\X”L\\ = \/2_
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